
＜　　年　　月　　日＞

⑳ x2  14x14x14x  4949

 x  72

⑲ x2  x  1212

 x  4x  3

⑱ x2  2525

 x  5x  5

⑰ x2  5x5x  6

 x  2x  3

⑯ axax  bxbx

 xa  b

◆因数分解せよ。⑯～⑳

⑮ x  32

 x2  6x6x  9

⑭ x  4x  4

 x2  1616

⑬ x  5x  2

 x2  3x3x  1010

⑫ 35ab35ab35ab35ab  14a14a14a + 7a7a

 5b5b  2

⑪ 4x4x5x5x  3y3y

 20x20x20x2  12xy12xy12xy12xy

◆展開せよ。⑪～⑮⑩ 32x2x  y  2x  3y3y

 6x6x  3y3y  2x2x  6y6y

 6x6x  2x2x  3y3y  6y6y

 8x8x  3y3y

⑨ 10a10a10a2b  abab % 3a3a

 10a10a10a2b  3a3a2b

 7a7a2b

⑧ 36xy36xy36xy36xy2 + 4xy4xy4xy % 3y3y


36xy36xy36xy36xy2 % 3y3y

4xy4xy4xy

 27y27y27y2

⑦ 0.6 % 0.7

 0.4242

⑥ 
8
1515
+
4
9

 
8 % 9
1515 % 4

 
2 % 3
5 % 1

 
6
5

⑤ 
9
1414

 % 
7
6



9 % 7
1414 % 6


3 % 1
2 % 2


3
4

④ 
1
4

2
3

 
3
1212


8
1212

 
1111
1212

③ 8  2 % 3

 8  6

 8  6  1414

② 8 % 6

 4848

① 7  4

 3

◆計算せよ。①～⑩

氏
名計算（３年「展開・因数分解」後）　01



＜　　年　　月　　日＞

⑳ x2  12x12x12x  3636

 x  62

⑲ x2  x  3030

 x  5x  6

⑱ x2  1616

 x  4x  4

⑰ x2  7x7x  1212

 x  3x  4

⑯ axax  ayay

 ax  y

◆因数分解せよ。⑯～⑳

⑮ x  72

 x2  14x14x14x  4949

⑭ x  5x  5

 x2  2525

⑬ x  4x  2

 x2  6x6x  8

⑫ 42ab42ab42ab42ab  12a12a12a + 6a6a

 7b7b  2

⑪ 3x3x9x9x  5y5y

 27x27x27x2  15xy15xy15xy15xy

◆展開せよ。⑪～⑮⑩ 43x3x  2y2y  32x2x  y

 12x12x12x  8y8y  6x6x  3y3y

 12x12x12x  6x6x  8y8y  3y3y

 6x6x  5y5y

⑨ 15ab15ab15ab15ab  9a9a2b + 3a3a

 15ab15ab15ab15ab  3ab3ab3ab

 12ab12ab12ab12ab

⑧ 27xy27xy27xy27xy2 + 3xy3xy3xy % 8y8y

 
27xy27xy27xy27xy2 % 8y8y

3xy3xy3xy

 72y72y72y2

⑦ 4.8 + 0.6

 8

⑥ 
8
2121

 + 
4
7



8 % 7
2121 % 4


2 % 1
3 % 1


2
3

⑤ 
9
1414

 %
7
6

 
9 % 7
1414 % 6

 
3 % 1
2 % 2

 
3
4

④ 
3
5

2
3

 
9
1515


1010
1515


1
1515

③ 1212  8 + 4

 1212  2

 1212  2  1414

② 4 % 6

 2424

① 7  4

 1111

◆計算せよ。①～⑩

氏
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＜　　年　　月　　日＞

⑳ x2  6x6x  9

 x  32

⑲ x2  x  6

 x  2x  3

⑱ x2  8181

 x  9x  9

⑰ x2  8x8x  1515

 x  5x  3

⑯ amam  bmbm

ma  b

◆因数分解せよ。⑯～⑳

⑮ x  42

 x2  8x8x  1616

⑭ x  6x  6

 x2  3636

⑬ x  7x  3

 x2  4x4x  2121

⑫ 36ab36ab36ab36ab  12b12b12b + 4b4b

 9a9a  3

⑪ 7x7x4x4x  3y3y

 28x28x28x2  21xy21xy21xy21xy

◆展開せよ。⑪～⑮⑩ 52x2x  y  3x  2y2y

 10x10x10x  5y5y  3x3x  6y6y

 10x10x10x  3x3x  5y5y  6y6y

 13x13x13x  y

⑨ 8a8a2b  abab % 2a2a

 8a8a2b  2a2a2b

 6a6a2b

⑧ 48xy48xy48xy48xy2 + 8xy8xy8xy % 3y3y


48xy48xy48xy48xy2 % 3y3y

8xy8xy8xy

 18y18y18y2

⑦ 0.4 % 0.8

 0.3232

⑥ 
7
1212
+
1414
9

 
7 % 9

1212 % 1414
 

1 % 3
4 % 2

 
3
8

⑤ 
2525
8
 % 

4
1515




2525 % 4
8 % 1515


5 % 1
2 % 3


5
6

④ 
2
5

1
3

 
6
1515


5
1515

 
1111
1515

③ 7  3 % 2

 7  6

 7  6  1313

② 7 % 6

 4242

① 1111  4

 7

◆計算せよ。①～⑩

氏
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＜　　年　　月　　日＞

⑳ x2  4x4x  4

 x  22

⑲ x2  2x2x  2424

 x  6x  4

⑱ x2  4949

 x  7x  7

⑰ x2  9x9x  2020

 x  4x  5

⑯ axax  cxcx

 xa  c

◆因数分解せよ。⑯～⑳

⑮ x  92

 x2  18x18x18x  8181

⑭ x  3x  3

 x2  9

⑬ x  4x  5

 x2  9x9x  2020

⑫ 27ab27ab27ab27ab  6a6a + 3a3a

 9b9b  2

⑪ 4x4x7x7x  3y3y

 28x28x28x2  12xy12xy12xy12xy

◆展開せよ。⑪～⑮⑩ 35x5x  2y2y  23x3x  2y2y

 15x15x15x  6y6y  6x6x  4y4y

 15x15x15x  6x6x  6y6y  4y4y

 9x9x  2y2y

⑨ 12ab12ab12ab12ab  8a8a2b + 2a2a

 12ab12ab12ab12ab  4ab4ab4ab

 8ab8ab8ab

⑧ 36xy36xy36xy36xy2 + 4xy4xy4xy % 6y6y

 
36xy36xy36xy36xy2 % 6y6y

4xy4xy4xy

 54y54y54y2

⑦ 4.2 + 0.7

 6

⑥ 
8
1515

 + 
4
9



8 % 9
1515 % 4


2 % 3
5 % 1


6
5

⑤ 
1515
1414

 %
7
1010

 
1515 % 7
1414 % 1010

 
3 % 1
2 % 2

 
3
4

④ 
3
4

2
3

 
9
1212


8
1212

 
1
1212

③ 1010  6 + 2

 1010  3

 1010  3  1313

② 4 % 9

 3636

① 6  5

 1111

◆計算せよ。①～⑩
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